L—IVER (HK-157)
71 203




S B % < S ' z fl v

ENe | = IS % o K57 | HK-157 i # ENe | = F % 7o HR-57 | HK-157 i %

1 | 20056-21040 | L— 52k (L) 1 51 | 20048-42130 | WA 7 — 4

2 | 20056-21050 | L — V=8 (R) 1 52 | 20000-42520 | / 7HEIL b 8

3 [ 20056-31070 | L= #/3— (C) 1 53 | 20041-31200 | & AV + 4 4 M 8 X46

4 | 20056-31080 | L — A 5— (D) 1 54 | 20050-41310 | Befb 42 (1) 4

5 | 20058-41070 | ¥ x 7k 1 1 4 10X 374 55 | 20117-31810 | 1# 2

6 | 20045-41080 | EEREHS ¥ 7 b 1 1 $11.95%394| [ 56 | 20000-41720 | A 7o v + (16T) 1

7 | 20035-41220 | ¥ ¥ 7+ (B) 4 7 4 10X 361 57 | 20013-44208 | "y FL=F1) 1

8 | 20036-41030 | ¥ 7 F (B) 1 1 $10X442 58 | 03003-41026 | @ —S5—F =z~ 1 #410.26 L

9 | 20057-41090 | > x* 7 F (Y F) 1 ¢ 10X425 59 | 20052-31051 | /»> FiL A/ 3— 1

10 | 20000-42590 | L=V X F v 2S—F NV b 3 3 60 | 20052-41170 | A/N—HUfF&EE (U F) 1

11 | 20018-31040 | EEE A 7 — 1 1 61 | 20033-41020 | ¥ 7 JIEAF v b 3 4 M6

12 | 20018-41100 |MEEA T —EE 2 2 62 | 20018-31030 | /v~ Fv 1

13 | 20056-41080 | #EBhEHSAK 1 1 63 | 20050-21010 | VT4 Assy 1 1

14 | 20021-41117 | &+ 4 L X5 (B) 5 5 64

15 | 20000-31050 | ¢ 75V 7 —1 — 1 1 i 410 65 | 20108-36114 | / ANVZX ¥ Y F 2

16 | 20208-41241 | #% g2 0—5— (B) 2 2 412 66 | 20000-31070 | V ANT S5 1

17 | 20004-409 WeET LO— T — 12 14 ¢4 10 67 | 20030-436 J AN, T 1 413X 418

18 | 20048-41780 | #E—t+ & 2 2 68 | 06252-51213 | NV TV 7 v b 1 13X 1/2

19 | 20030-41116 | ¥ S ¥ x v 7 4 4 $ 7 69 | 20028-47114 | k— X J X 1

20 | 20000-41350 | fEli~—2 1 1 70 | 20041-41250 | 7 a—7 /"7 1 1/2

21 | 20035-41170 | 4x (B) 4 4 L =37 71 | 20208-45316 | T 452 1

22 | 20057-31030 — A= (E) 1 72 1 20030-27116 | K% 1

23 | 20057-31040 | L = VA 3— (F) 1 73 | 20030-47119 | 7 v ¥ v — 1

24 | 20005-411 FANWLVART )T 14 18 10X13 74 | 20030-47120 | /S ¥ 1

25 | 20005-419 ALEE 10 13 T4.0 75 | 20033-41050 | + v 1

26 | 20000-41140 | A7a4, v b (8T) 3 2 76 | 20030-47125 | HEkk— R 1 L =5000

27 77 | 06252-52084 | SV T7 VA B 1 20X 3/4

28 | 20000-41150 | A7ar v bk (8T) 2 2 412 78 | 20042-41080 | E3I 27 RV EE 2 4

29 | 20035-41090 | AS—H— 3 3 T1.2 79 | 06710-12000 | sk— A/ X2 F 1 420

30 | 20000-41430 | A7usr v+ (8T) 8 15 80 | 20056-21030 | £— ¥ —~\— A% 1

31 | 20052-41140 | ¥ ¥ — 1 1 412 81 | 20058-31030 | ¥¥— FE—DbJV 1 25W/100V_1/75

32 | 20052-41150 | ¥ — 1 1 410 82 | 20035-41460 | =~ F 1 6 uF

33 | 20208-42303 | A—— 1 1 83 | 20030-46119 | A+ v AL v F 1

34 | 20052-41160 | ##ES ¥ 7 b 1 1 4 12X404 84 | 20030-46120 | T4 ¥ v v S 1

35 | 20115-41120 | A7u4 v + (10T) 1 1 85 | 20208-48411 | a—F7 v i = 1

36 | 03003-41053 | O—5—F =z~ 1 1 #410.53L 86 | 20033-41400 | = —F7 57 1

37 | 03003-41028 |0 —F5—F x> 1 #410.28 L 87 | 20039-21052 | E— % —#/3— (B) 1

38 | 03003-41034 |0 —S5—F x> 2 #410.34L 88 | 20085-41160 | 3k (A) 2

39 | 03003-41044 | O—5—F x>~ 1 #410.44L 89 | 20000-41100 | A7u v+ (9T) 1 #410. 410

40 | 03003-41048 [ —5—F = > 3 1 #410.48L 90 | 00980-41670 | Bifa—F (V) 1 5m

41 | 03003-41036 |U—5—F =z > 1 1 #410.53L 01 | 20033-41010 | A ¥+ v b 2

42 1 03003-41032 | @ —F5—F =z 1 #410.32L 92 | 20041-31100 | ¥4 v T 1 1

43 | 03003-41038 [ —5—F x> 1 #410.38L 93 | 29222-31100 | ¥ ¥ A¥—TL—4 1 1

44 | 03003-41040 | —S5—F =z > 1 #410.40L 94 | 29222-31070 | > x 1 ~ 2 2

45 | 03003-41042 | 1 —5—F = > 1 #410.42L1 05 | 20034-41010 | DA —F5— 4 410

46 | 03003-41046 | O —S5—F x> 2 #410.46L 96 | 20000-41810 | ++ 5 K 1 1

47 | 20057-21010 | L =R (L) 1 97 | 20057-41100 | BRiIE 1 1

48 | 20057-21020 | L— &R (R) 1 98

49 | 20035-41100 | 7 5 — 1 L=15 99

50 | 20048-31660 | HseR 2 100




S 1 R il % y

ENe| 2 — F. % Ea HR57 | HK-157 i
200 | 20000-41780 | /N3 FAHIAS ARV b 4

201 | 01000-00610 | A<HFIV b 12 16 M6 X10
202 | 01000-00612 | SREFNV b 17 12 M6 X12
203 | 01020-90620 | F 3w KNV b 2 M6 X20

204 | 01110-00412 | +F=RAFF MK T 1 M4 X12
205 | 01200-00403 | <FEF v b 1 M4

206 | 01200-00504 | <fF v b 4 M5

207 | 01200-00605 | <+ v F 6 6 M#6

208 | 01250-00606 | EE&fF+ >~ b 13 22 M6

209 | 01290-90600 | ¥ v+ v b 2 2 M6

210 | 01010-10616 | A<H ARV b 2 M6 X16
211 | 01400-00513 | /SR HH A 4 M5

212 | 01400-00615 | /XA A% 6 6 M6

213 | 01400-00820 | /34 A % 4 M8

214 | 01420-01016 | B FH I % 13 13 M10

215 | 01420-01223 | B THH % 3 3 M12

216 | 01421-00508 | v SHH % 3 M5

217 | 01500-03020 | & >~ 2 2 ¢ 3 X20
218 | 01500-03025 | &> 23 16 4 3 X256
219 | 01501-00918 | RE~ 11 12 49

220 | 01501-01620 | R¥ ~ 1 416

221 | 01114-00612 | +=RAG M T RAWF D 5 6 M6 X12




&Ry IN—EB

g

?f%




: - F j B . = ||p _ ok : . I "
ENo| = 1§ % 073 TR s TRk | ® % RNo | = ) % a3 AR5, Tugk1s7 | ® 0%
1 | 20052-11010 | ¥4 KA ¥~ F (L) 1 1 51 | 20048-41200 [ A4 F 2 2
2 | 20052-11020 | 4 FA% ~ F (R) 1 1 52 | 20113-41170 | A&+ ¥ 2 2
3 | 20000-41800 | &+ 4 Vv AHE (D) 4 4 12X18 53 | 00931-40008 | E#E+ 2 2
4 | 20048-41070 | A F v /83— 7 1 1 54 | 20035-21150 | & v /3—524E 1 1
5 | 20048-41020 [ R ¥ 7 b 1 1 55 | 20013-34212 | 5k v /3S—NIREIMK 1 1
6 | 20048-41110 | w04 ¥ 1 1 56 | 20035-31270A] /4 FEIR Al Al
7 | 20066-31080 | BlEET7 T > 1 1 57 | 20007-409 B AT 2 2
S | 20048-41080 | #H=-HK 2 2 58 | 20007-410 L 2 2
9 | 20000-41320 | A ANV ARTY VT 3 3 10x13 59 | 20030-44138 | FAki/ N~ K 1 1
10 | 20048-41100 | AZ L v /18— 1 1 60 | 20030-423 EIWHT—7 1 1
11 | 20041-41040 [ A 704 v + (42T) 1 1 #25.42T. ¢12} | 61 | 20007-311 NTRENY FVgsE 1 1
12 | 03003-25085 | O—F—F x> 1 1 #25 854 62 | 20204-34308 | T4z — 1 1
13 | 20048-41090 | A vy FA7us v b 1 1 14T -56T 63 | 20030-24126Al Ky /3— A ¥ ¥ F (A) Al Al
14 | 20021-41117 [ A A VL A8 (B) 2 2 12X15 64 | 02202-06004 | K— AT 7 1 1 6004U U
15 | 20005-419 FUEE 1 1 t 4 65 | 20013-24202 | *v 3= ¥ v F (k) 1 1
16 | 20035-41010 | A7u4 v b (11T) 1 1 #25.11T. ¢10] | 66 [ 20112-42114 | -5 — v 7 b 1 1
17 | 20000-41820 | R¥ >~ (16) 1 1 $2 -3 67 | 20030-44139 | MiA* — 2 2 4 X 4 X10
18 | 03003-25074 | ©—5—F x ~ 1 1 #25 T4¢ 68 | 20043-31010 | 77 Fo—5— 1 1
10 | 20048-41120 | 7 a v 1 1 ’ 69. | 20030-44131 | FA 55— 1 1
20 | 20048-41130 | 7 v 3 3% 1 1 70" | 20208-42303 | At—H— 3 3 t0.8
21 | 20048-41030 | ¥ 7 AA 74 v (A) 1 1 21T -19T 71 | 20030-44143 | N7 5 v F 1 1
22 | 20048-41040 | ¥ 7N AFuar v + (B) 1 1 33T -27T 72 | 00931-40002 | FE#E/ S 1 1
23 | 20048-41060 | A7 E 47 v b (22) 1 1 #25.22T 73 | 20030-44130 | 7% — 1 1
24 | 03003-25088 | O —F—F x ~ 1 1 #24.88 ¢ 74 | 20030-44132 | ¥ 78 —¥E ¥ 1 1
25 | 20000-41890 | A 724 v b (19T) 1 1 #410.19T 75 | 20030-44145 | 7 5 v F L N— 1 1
26 | 20208-42211 | R¥ ~ 1 1 422 76 | 20030-44123 | =¥ 1 1
27 | 20033-41010 | A+ ¥+ v b 2 2 77 | 20030-34135G| 7 5 v FH 3 — 1 1
28 | 20048-30210 | &R v —F —{LA4l 1 1 78 | 20030-44124G| 7 5 v FirmE~<— 2 1 1
20 | 20048-21190 | NI a2k v t— 1 1 79 | 20011-21105 | 7 7 FiREHIK 1 1
30 | 20035-41060 [ e 5 ¥ ¥ v 7 2 2 49 80 | 20005-415 AN S—FKNV b 1 1
31 | 20050-41460 | fEYU4R 1 1 81 | 20030-44125 | X b v 3— 1 1
32 | 20066-21080 | @ — VA A F 1 1 82 | 20033-41010 [ A EF v b 2 2
33 83 | 20000-31040 | 460V 7 —1 — 1 1
34 | 20048-31010 [ 7+ —2 (C) 41 41 84 | 20112-42113 | # N—HUF&E (B) 1 1
35 | 20048-41140 | 7 + — 7 ZiFE 2 2 85 | 20022-31404 | # N EE 1 1
36 | 20048-31050 | # »U 7 1 1 86 | 20035-21092 | N aHhN— (B) 1 1
37 | 20048-31570 | F 7 A A A /8— 1 1 87 | 03511-00025 | VUL b 1 1 A -25
38 | 20000-41910 | {k#E+ > 3 3 M6 X12 38
39 | 20041-41670 | F ¥ a v T—4 1 1 89
40 | 20041-41300 | 7> a v AT — 1 1 90
41 | 20041-41320 | S%H 47 1 1 01 | 20035-41090 | A-x—+H 1 1 t1.2
42 | 00930-40018 | 515E/ v % 1 1 92
43 | 20000-41310 | F v avy 7= — 1 1 93
44 | 20041-41700 | Befd x> 1 1 94
45 | 20052-21032 | 4 Fr 23— (FF) 1 1 95
46 | 20041-41521 | ax—Hifi&E 4 4 96
47 | 20048-31201 | BEERE 7~V 1 1 97
48 F—LTL—} 1 08
49 F—LTL—F 1 99
50 | 20048-21111 | 44 FA3— () 1 1 100




7

BNo | = F B # TK 5 [aKkir| " %
200 | 20000-41780 | /N3 PREEMANEFR I F 10 10 M6 X12
201 | 20000-41760 | SFEESHAASAEAL b 2 2 M8 X14
202 | 20000-41730 | )N EESRASF RN b 11 11 M6 X12
203 | 01000-00610 | <AEN b 6 6 M6 X10
204 | 01000-00612 | <XFENL b 9 9 M6 X12
205 | 20000-41490 | N BEHAF IR Y 2 2 M6 X12
206 | 01110-00410 | TR TR Y 1 1 M4 X10
207 | 01110-00510 | TREF~AAER Y 2 2 M5 X10
208 | 01110-00610 | THRAFANF Y 3 3 M6 X10
209 | 01114-00434 | TR F T AAFY 2 2 M6 X14
210 | 01114-00612 | TSR F T ADR Y 6 6 M6 X12
211 | 01200-00403 | X F v F 1 1 M4

212 | 01250-00606 | FE€RF v F 24 24 M6

213 | 01290-90400 | ¥ 3w+ v b 2 2 M4

214 | 01400-00410 | 7/SH3¥FH & 1 1 M4

215 | 01400-00513 | N3 HH * 2 2 M5

216 | 01400-00615 | /N3 ¥4+ 1 1 M6

217 | 01420-01016 | E T ¥ H * 2 2 M10

218 | 01420-01223 [ € ¥ H * 3 3 M12

219 | 01421-00408 | ¥ ¥ * 1 1 M4

220 | 01421-00508 | & 5 HF % 2 2 M5

221 | 01421-00610 | © SH A % 8 8 M6

222 | 01411-00405 | sift/e& 2 2 M4

223 | 01500-02012 | EjE >~ 1 1 4 2 X12
224 | 01500-02520 | gl >~ 4 4 ¢ 2.5X20
225 | 01500-03020 | g¥ >~ 3 3 4 3 X20
226 | 01500-03025 | 2 ¥ >~ 2 2 $ 3 X25
227 | 01501-00510 [ RE > 1 1 $5

228 | 01501-00918 | R¥ ~ 1 1 49

229 | 01511-01223 | RE ~ 2 2 $12

230 | 02100-01010 | CEIjE X 2 2 ¢4 10808
231

232

233

234

235

236

237

238

239

240

241

242

243

244

245

246

247

243




